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Heep, SIMC to hcana
script
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Fortran scripts,
average kinematics
and xsects



https://github.com/JeffersonLab/hallc replay It/tree/LTSep Analysis 2022

https://github.com/JeffersonLab/UTIL KAONLT/tree/spring 2022

Offsets
Calculate most
efficiencies

Hcana

e Grab/calculate all
efficiencies

e Grab/calculate all
uncertainties

scripts/efficiency

e Definecuts

o PID

o CT
DB/CUTS+DB/PARAM

UTIL_KAONLT



https://github.com/JeffersonLab/hallc_replay_lt/tree/LTSep_Analysis_2022
https://github.com/JeffersonLab/UTIL_KAONLT/tree/spring_2022

https://github.com/trottar/It analysis/tree/winter 2023

Efficiencies
Uncertainties
PID cuts

CT cuts

UTIL_KAONLT

Apply PID cuts
Apply CT cuts
**Merges runs for
each phi setting

Prod/Analysed_Prod.py

** done in bash script

e Calculate effective
charge per run

findEffectiveCharge.py

Apply diamond cuts
t-binning,
phi-binning
Generate plots for
each phi setting
Average Q2, W, t
calculated

Prod/find. tBInRange.py

e Createinputs for
LT_analysis
framework

e Ratiocalculation

Prod/createPhysicsList.py

LTsep+LT_analysis/scripts/



https://github.com/trottar/lt_analysis/tree/winter_2023

https://github.com/trottar/It analysis/tree/winter 2023

alculate yields T

° bine simc,
e Detector cuts — du
e PIDcuts combine
e CTcuts root_ana :
e Diamond cuts > *
e t-binnin
e |nputs fgr e Newscripts that

LT Ivsi generates inputs
NI LTsep for fortran
e LT separation \y

e Sepcross e Average kinematics

section e Calculate unse
@ p

e Fitting cross section
Fortran
C++ V
e Plotting
>
LTse
LT _analysis >



https://github.com/trottar/lt_analysis/tree/winter_2023

High eps
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Q2=5.5,W=3.02,t=(0.01,1.99), 3 t-bins, 10 phi bins




High eps
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Q2=5.5, W=3.02,t=(0.01,1.99), 3 t-bins, 10 phi bins

High eps
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Q2=5.5, W=3.02,t=(0.01,1.99), 3 t-bins, 10 phi bins

Low eps
Data Yield Simc Yield
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Ratio

Q2=5.5, W=3.02,t=(0.01,1.99), 3 t-bins, 10 phi bins

eps =0.1838
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